Chain Smoker

Sam is a chain smoker. But he has his own rules (!) of smoking. He doesn’t smoke less than 24
cigarette a day but not more than 30. The number of cigarette he buys he smokes all of them. And
he doesn’t smoke the cigarettes whose price is less than a certain amount. Now his father
doesn’t give him lots of money. So he is in financial problem, But a good news for him is if he
buys 5 cigarette he will get 1 free. Now he wants to know what is the minimum cost of a cigarette
he can smoke. He comes to you and requests to help him.

He gives you the minimum price of a cigarette he smoke ‘X’ and his budget ‘Y’. Now you have to
find the minimum price of a cigarette he can smoke by following his own rules(!) and rest money.
His concentration is smoke cigarette as many as possible between 24 to 30 in price not less then
X. Can you help him?

Input

Input file contains several test cases. Each contains two positive integers X and Y seperated by a
space (0 <X <100, 0 <Y <1000). Input terminates by entering one of any input is zero that
should not be processed.

Output

For each line of input print two integer A and B. Where ‘A’(A=X) is the price of cigarette he can
smoke and ‘B’ is the rest money. If it is not possible to fulfill the condition, print “Not Possible”.

Example

Input:
5 201
10 505
50 999
20 999
00

Output:

81

205

Not Possible
39 24
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